
526-31-32 04-05 Dyna Boarzilla  
526-31F       Dyna Boarzilla       04-05    2:1 Black Perforated baffle  

526-31FQ    Dyna Boarzilla       04-05    2:1 Black Perforated wrapped baffle 

526-32F       Dyna Boarzilla       04-05    2:1 Chrome Perforated baffle 

526-32FQ    Dyna Boarzilla       04-05    2:1 chrome Perforated wrapped baffle 

8- 3/8 Lock Washers 

  

 

2- 3/8 Flat Washers 

2- 3/8 Flange Nuts 

 

 

 

 



2- ¾ OD ½ ID ¼ Thick Spacer 

2- Exhaust Gaskets 

 

1- 5/16 1 ¼ Soc Bolt 

1- 5/16 1” Soc Bolt 

1- 5/16 20x1 ¼ Soc Bolt 

 

2- 3/8x3/4 Hex Head Bolt  

2-3/8x1 Hex Head Bolt 

 



1- Bracket 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 



 

 

 



 



 

 

 



 

 



 


